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Filozofická fakulta, ústav Ostravské univerzity (dále jen OU) 

 

Informace o přijímacích zkouškách podle studijních programů 

 

1. Studijní program KKOV B7310 Filologie 

a)  Studijní obor  

Anglický jazyk a literatura (jednooborové) 

 dvouoborové: 

 Anglický jazyk a literatura – Český jazyk a literatura 

 Anglický jazyk a literatura – Dějiny umění a památková péče 

 Anglický jazyk a literatura – Francouzský jazyk a literatura 

 Anglický jazyk a literatura – Latinský jazyk a literatura 

Anglický jazyk a literatura – Historie 

Anglický jazyk a literatura – Latinský jazyk a literatura 

Anglický jazyk a literatura – Německý jazyk a literatura 

Anglický jazyk a literatura – Polský jazyk a literatura 

Anglický jazyk a literatura – Psychologie 

Anglický jazyk a literatura – Ruský jazyk a literatura 

Anglický jazyk a literatura – Španělský jazyk a literatura 

Anglický jazyk a literatura – Základy společenských věd 

 

Forma přijímací zkoušky: písemná 

Test z Anglického jazyka a literatury - varianta A 

 

Úplné zadání Zkušebních otázek či příkladů, které jsou součástí přijímací zkoušky nebo 

její části a u otázek s výběrem odpovědí správné řešení. 

 

Část I – Test jazykové kompetence  (70 bodů) 
 

Pass on your genes! 

For many of us, marriage is special. Whether we are religious or secular, a permanent 

monogamous relationship can feel sacred. Understanding why monogamy sometimes works 

for animals, and why it so often fails, can tell us about the nature of our own relationships. 

So cast aside your romantic ideals, and enter a world of amorous parasitic worms. 

In nature, reproduction is considered to be everything. All creatures are trying to pass on 

their genes to their offspring. Monogamy is just one of many strategies, and there are two 

inescapable pressures that drive animals to mate more freely. The first point is that genetic 

variation is good. A female who mates with several different males will have more genetically 

diverse offspring, boosting the chances that at least some of them will thrive. Secondly, a 

fundamental difference between males and females can be found when it comes to making 

sex cells. Put simply, sperm are cheaper to produce than eggs. This means a typical male 

animal has enough sperm at his disposal to fertilise countless females, whereas beyond a 

certain point females will not produce any more offspring by mating with extra males. 
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Put these two points together, and both sexes have incentives to find ______ (1) multiple 

mates. As ______ (2) result, monogamy is only a sensible strategy under ______ (3) very 

specific circumstances, such as the intestinal parasite Schistosoma mansoni in humans: 

males and females spend their entire adult lives locked in ______ (4) tight embrace. Each 

male has ______ (5) sort of a canal in which the female nestles while she churns out 

hundreds of ______ (6) eggs into ______ (7) host’s intestines. The human digestive system is 

not ______ (8) best place to pick up ______ (9) hot dates, so when ______ (10) worm 

encounters a member of ______ (11) opposite sex, it is quite willing to tie the knot for 

______ (12) good. 

Perhaps it is also true that humans are not naturally monogamous. But if there is one thing 

that makes us human, it is that we try to act against our instincts when it seems like a good 

idea. 

http://www.bbc.com/earth/story/20160213-why-pairing-up-for-life-is-hardly-ever-a-good-idea 

 
I. Pečlivě pročtěte výše uvedený text a rozhodněte, zda jsou následující tvrzení pravdivá (P) 

nebo nepravdivá (N).                                                                                                             (6 bodů) 

1 Humans practice monogamy because they are less interested than animals in passing 
their genes on to the next generation.                     P/N 

2 Humans are the only species for which monogamy is common.      P/N 

3     The parasites Schistosoma mansoni lay their eggs inside a human body.     P/N 
 
                     

II. Doplňte dle uvážení člen neurčitý (a/an), určitý (the) nebo nulový (0). Nevyplněné pole 
je automaticky považováno za nesprávnou odpověď.                                                (12 bodů) 

Put these two points together, and both sexes have incentives to find ______ (1) multiple 
mates. As ______ (2) result, monogamy is only a sensible strategy under ______ (3) very 
specific circumstances, such as the intestinal parasite Schistosoma mansoni in humans: 
males and females spend their entire adult lives locked in ______ (4) tight embrace. Each 
male has ______ (5) sort of a canal in which the female nestles while she churns out 
hundreds of ______ (6) eggs into ______ (7) host’s intestines. The human digestive system is 
not ______ (8) best place to pick up ______ (9) hot dates, so when ______ (10) worm 
encounters a member of ______ (11) opposite sex, it is quite willing to tie the knot for 
______ (12) good. 

 

III. Doplňte slova opačného významu – buď antonyma (např. good – bad), nebo opozita 
odvozená zápornými předponami nebo příponami (např. possible – impossible). Zachovejte 
stejný slovní druh, jaký je použit v textu.                                                                              (5 bodů) 
 

1) cheaper –  _________________ 

2) find –               _________________                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                    
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3) sensible –  _________________ 

4) tight  –   _________________ 

5) willing  – __________________ 

    
IV. Přeformulujte větu tak, abyste při zachování významu mohli užít trpný rod. Je-li třeba, 

využijte vhodných výrazů z textu (věta je zvýrazněna tučným písmem).               (2 body) 
       

Females will not produce any more offspring by mating with extra males. 

_________________________________________________________________________ 
 
 
_________________________________________________________________________ 

 
 
V. Přeformulujte větu tak, abyste při zachování významu mohli užít činný rod. Je-li třeba,    

využijte vhodných výrazů z textu (věta je zvýrazněna tučným písmem).                  (2 body) 
 

A fundamental difference can be found between males and females. 
 
________________________________________________________________________ 
 
 

VI. Přeložte následující věty do češtiny; berte přitom v úvahu jejich kontext (věty jsou  
podtrženy v úvodním textu).                                                                                             (4 body) 

                                                                                                                                    
Understanding why monogamy sometimes works for animals, and why it so often fails, 
can tell us about the nature of our own relationships. So cast aside your romantic ideals, 
and enter a world of amorous parasitic worms. 
________________________________________________________________________
________________________________________________________________________
________________________________________________________________________ 
 
Perhaps it is also true that humans are not naturally monogamous. But if there is one 
thing that makes us human, it is that we try to act against our instincts when it seems like 
a good idea. 
________________________________________________________________________
________________________________________________________________________
________________________________________________________________________ 

 
VII. Podtrhněte v uvedených příkladech celé podměty.               (3 body) 
       A female who mates with several different males will have more genetically diverse 

offspring, boosting the chances that at least some of them will thrive. 
 
VIII. Doplňte druhou větu ve dvojici tak, aby měla v textu stejný, nebo téměř stejný význam 

jako věta první. Použijte daný výraz, aniž byste změnili jeho tvar.                        (12 bodů) 
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1) You always come late, which is very annoying.                                    WISH 
 

________________________________________________________________________ 
 
 
2) Although the queues were long, they enjoyed the rides.                              DESPITE 

 
________________________________________________________________________ 
 
3) We didn't have much money to spend.       LITTLE 

 
   ________________________________________________________________________ 
 
  

4) Bring a map because you might get lost.      CASE 
 

_________________________________________________________________________ 
 
 
 

5) “You are a liar!” my boyfriend said to me.     LYING 

 
________________________________________________________________________ 

 
6) The computer’s only working because we called an IT specialist to fix it.     IF 
 

_________________________________________________________________________ 
 
IX. Doplňte vhodná slova do textu.                                                                                      (8 bodů) 
 
RAINFOREST PEOPLE 
Tropical rainforests are home to tribal peoples _____________ (1) rely _____________ (2) 
their surroundings for food, shelter, and medicines. Today very few forest people live 
_____________ (3) a traditional way; most have been displaced by outside settlers or 
_____________ (4) been forced to give up their _____________ (5) by governments. The 
remaining forest people still depend on the forest for traditional hunting and gathering; 
however, they also grow crops (like bananas _____________ (6) rice), use Western goods, 
and make _____________ (7) trips to towns and cities. Still, these forest people can teach us 
a lot _____________ (8) the rainforest. 

http://kids.mongabay.com/elementary/301.html 

 

X. Doplňte správný tvar slovesa v závorce.                                                                          (8 bodů) 
 
The woman was in bed with her lover and (1) ______________ (just, tell) him how stupid her 
husband (2) ______________ (be) when suddenly there (3) ______________ (come) a knock 
on the door, and the door (4) ______________ (throw) open.  In the doorway (5) 
______________ (stand) her husband. He started (6) ______________ (shout) at his wife’s 
lover, "What (7) _______________________ (you / do)?" "There," said the wife,  
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"(8) __________________ (I / tell) you he was stupid?" 

 
 
XI. Vytvořte nová slova z výrazů v závorce – použijte přípony a předpony.                (8 bodů) 
 

Bottled water is bad 

Sales of bottled water have quadrupled in the past twenty years. More and more people buy 

water instead of soda, 1) ____________ (sugar) juices, and caffeinated drinks. However, one 

liter of bottled water produces as much as half a pound of greenhouse gases once the plastic 

is produced and the product shipped 2) ____________ (world). It's an 3) ____________ 

(necessary) use of resources. 

Bottled water can be 4) ____________ (use), though. For example, it provides a 5) 
____________ (health) alternative at large events and of course is less 6) ____________ 
(expense). Yet too many people reach for bottled water instead of tap water. 

Many people recycle the plastic bottles but too many plastic bottles still end up in landfills. 
Some countries don't redeem plastic, which 7) ____________ (worse) the problem. More 
importantly, though, people should strive to reduce, reuse and lastly recycle resources. All 
those empty water bottles 8) ____________ (simple) don't allow that. 

 
Část II – Kulturně-historický přehled (30 bodů) 
 
1. A poem of mourning or a lament is 
a) a tale                  b) a romance  c) an elegy                       d) a legend 
 
2. Ophelia is a character from Shakespeare’s 
a) Romeo and Juliet      b) Hamlet                           c) King Lear           d) Othello 
 
 
3. Which author is correctly linked with his work? 
a) Ernest Hemingway – The Great Gatsby               b) Arthur Miller – Death of a Salesman 
c) Allen Ginsberg – Lolita                                         d) Theodore Dreiser – The Sun Also Rises 
 
4. Which genre is associated with Harold Pinter and Tom Stoppard?  
a) novel                   b) drama               c) poetry            d) short story 
 
5. Which writer is associated with the Mississippi River region? 
a) Herman Melville      b) Mark Twain  c) James Fenimore Cooper     d) Edgar Allan Poe 
 
6. What was the name of the colony established in 1620 by the Pilgrim Fathers in what is 

now Massachusetts?    
  
 
7. What is the capital of Wales? 
a) Cardiff       b) Swansea                         c) Bangor                         d) Cardigan 
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8. Which is the largest state of the USA? 
a) Alaska                   b) Texas                          c) Florida                         d) California 
 
 
9. Which party is the major opposition party in today’s Britain? 
a) Labour       b) Liberal Democrat c) Conservative             d) Republican 
 
10. What does the American Congress consist of? 
 

ANGLICKÝ JAZYK A LITERATURA KLÍČ – TEST A 
 

I. Jazyková kompetence 
 
I. Pečlivě pročtěte výše uvedený text a rozhodněte, zda jsou uvedená tvrzení pravdivá (P) 

nebo nepravdivá (N).                                                                                                                (6 bodů) 

1) N 
2) N 
3) P 

 

II. Doplňte dle uvážení člen neurčitý (a/an), určitý (the) nebo nulový (0). Nevyplněné pole 

je automaticky považováno za nesprávnou odpověď.                                                    (12 bodů) 

1. 0 

2. a 

3. 0 

4. a 

5. a 

6. 0 

7. the / a 

8. the 

9. 0 

10. a 

11. the 

12. 0 

 

III. Doplňte slova opačného významu – buď antonyma (např. good – bad), nebo opozita 

odvozená zápornými předponami nebo příponami (např. possible – impossible). Zachovejte 

stejný slovní druh, jaký je použit v textu.                                                                             (5 bodů) 
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1) cheaper –  more expensive, more costly, dearer, etc.  

2) find – lose, mislay, misplace, … 

3) sensible – irrational, stupid, … 

4) tight – loose, ...                                                                          

5) willing – unwilling, reluctant… 

 
     IV.   Přeformulujte větu tak, abyste při zachování významu mohli užít trpný rod. Je-li 

třeba, využijte vhodných výrazů z textu (věta je zvýrazněna tučným písmem).           (2 body) 

 No more offspring will be produced by females if they mate with extra males. 
 
 

V. Přeformulujte větu tak, abyste při zachování významu mohli užít činný rod. Je-li třeba,    

využijte vhodných výrazů z textu (věta je zvýrazněna tučným písmem).              (2 body) 

We/you/one can find a fundamental difference between males and females. 
 
VI.   Přeložte následující věty do češtiny; berte přitom v úvahu jejich kontext (věty jsou 

podtrženy v úvodním textu).                                                                                                   (4 body) 

                                                                                                                                  
Understanding why monogamy sometimes works for animals, and why it so often fails, 
can tell us about the nature of our own relationships. So cast aside your romantic ideals, 
and enter a world of amorous parasitic worms. 
 
Například: Pochopíme-li, proč monogamie někdy u zvířat funguje a jindy ne, může nám to 

napovědět o povaze našich vztahů. Takže dejte sbohem romantickým ideálům a vstupte 

do světa zamilovaných parazitických červů. 

 
Perhaps it is also true that humans are not naturally monogamous. But if there is one 
thing that makes us human, it is that we try to act against our instincts when it seems like 
a good idea. 
 

Například: Možná je ale pravda, že lidé nejsou přirozeně monogamní. Pokud z nás však 

přesto něco dělá lidi, tak to, že se, když pro to máme dobrý důvod, snažíme jednat proti  

vlastním instinktům. 

 
VII. Podtrhněte v uvedených příkladech celé podměty.                (3 body) 

A female who mates with several different males will have more genetically diverse 
offspring, boosting the chances that at least some of them will thrive. 

VIII. Doplňte druhou větu ve dvojici tak, aby měla v textu stejný, nebo téměř stejný význam 

jako věta první. Použijte daný výraz, aniž byste změnili jeho tvar.                               (12 bodů)   
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1) You always come late, which is very annoying.                                      WISH 
      I wish you wouldn't come (so) late all the time. / I wish you wouldn’t always come so 
late (etc.) 
 
2) Although the queues were long, they enjoyed the rides.                            DESPITE 

They enjoyed the rides despite the long queues. / Despite the length of the queues, they 
… 
 
3) We didn't have much money to spend.      LITTLE 

  We had (only/very) little money to spend. 
 

4) Bring a map because you might get lost.     CASE 
Bring a map in case you get lost. 

 
5) “You are a liar!” my boyfriend said to me.     LYING 

         My boyfriend accused me of lying. 
 

6) The computer’s only working because we called an IT specialist to fix it.  IF 
        If we hadn’t hired an IT specialist to fix it, the computer wouldn’t be working. 
 
 
IX.  Doplňte vhodná slova do textu.                                                                                      (8 bodů) 

1  who / that 

2 on 

3  in 

4            have 

5  lifestyles / homes / traditions / etc. 

6 and / or 

7 regular / frequent / occasional / etc. 

8          about 

 

 
X. Doplňte správný tvar slovesa v závorce.                                                                          (8 bodů) 

1)  had just told / was just telling / had just been telling 

2)  was 

3) came 

4)  was thrown 

5) was standing /  stood 

6)  shouting / to shout 

7)  are you doing / have you been doing  
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8)  didn't I tell / wasn’t I telling 

 
 
XI. Vytvořte nová slova z výrazů v závorce – použijte přípony a předpony.                   (8 bodů) 

1)  sugary 

2) worldwide 

3) unnecessary 

4)  useful 

5)  healthy 

6)  expensive 

7)  worsens 

8)  simply 

 

II. Kulturně-historický přehled (30 bodů) 
 
1.c 
2.b 
3. b 
4.b 
5.b 
6. Plymouth 
7. a 
8. a 
9. a 
10. House of Representatives and Senate 
 
 

Anglický jazyk a literatura (jednooborové) 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 78 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 87 

Průměrný výsledek písemné přijímací zkoušky: 58.33 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 14.53 

Decilové hranice výsledku zkoušky: - 

 
 dvouoborové: 

 Anglický jazyk a literatura – Český jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 14 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 84 

Průměrný výsledek písemné přijímací zkoušky: 54.36 
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Směrodatná odchylka výsledků písemné přijímací zkoušky: 21.72 

Decilové hranice výsledku zkoušky: - 

  

Anglický jazyk a literatura – Dějiny umění a památková péče 

  
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 1  

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 74 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 0.0 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Francouzský jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 7 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 86 

Průměrný výsledek písemné přijímací zkoušky: 63.29 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 18.76 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Historie 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 18 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 81 

Průměrný výsledek písemné přijímací zkoušky: 63.72 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 15.48 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Latinský jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 1 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 55 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 0.0 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Německý jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 10 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 82  

Průměrný výsledek písemné přijímací zkoušky: 63.1 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 16.62 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Polský jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 
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Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 1 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky:  74 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 0.0 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Psychologie 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 17 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 78 

Průměrný výsledek písemné přijímací zkoušky: 54.71 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 12.94 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Ruský jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 2 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 55 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 4.95 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Španělský jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 11 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 82  

Průměrný výsledek písemné přijímací zkoušky: 53.27 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 18.86 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Základy společenských věd 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 10 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 78 

Průměrný výsledek písemné přijímací zkoušky: 62.7 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 12.24 

Decilové hranice výsledku zkoušky: - 
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Test z Anglického jazyka a literatury - varianta B 

 

Úplné zadání Zkušebních otázek či příkladů, které jsou součástí přijímací zkoušky nebo 

její části a u otázek s výběrem odpovědí správné řešení. 

 

Část I – Test jazykové kompetence  (70 bodů) 

 

Final piece of type 1 diabetes puzzle solved 

______ (1) complete picture of _____ (2) areas that _____ (3) immune system attacks to 

cause _____ (4) type 1 diabetes has finally been revealed by ______ (5) scientists. _______ 

(6) study, published in _____ (7) journal Diabetes, discovered _____ (8) fifth and final critical 

target at which _____ (9) immune system errantly takes aim. _____ (10) team at _____ (11) 

University of Lincoln say the findings could help develop new ways to prevent and treat 

_____ (12) disease.  

Diabetes UK said the findings were "impressive". In type 1 diabetes, the immune system 

destroys the beta cells that make insulin – the hormone needed to keep blood sugar levels 

under control. Studies looking at the unique antibodies made by patients with type 1 showed 

five key targets that the immune system attacked. But working out exactly what they were 

has been like identifying someone from their silhouette. Studies long ago discovered some of 

the targets, but the final one has proved elusive for two decades.  

Dr Michael Christie, who led the research at the University of Lincoln, told the BBC: "With 

this new discovery, we have now finished identifying what the immune system is targeting – 

we have the complete picture." The targets are: insulin, glutamate decarboxylase, IA-2, zinc 

transporter-8, and tetraspanin-7. The more technically named ones are largely involved in 

secreting or storing the hormone insulin. Knowledge of some of these targets is already 

being used in a trial at King's College London that is aiming to stall the progression of type 1.  

But Dr Christie says having the complete picture could help transform care for type 1 

patients. He said: "Once the immune system decides it wants to get rid of something it's very 

hard to stop, so diabetes has proved to be a difficult disease to prevent. We're hoping that, 

by having identified the major targets in the disease, we can find ways to prevent it by 

blocking the immune response to these five proteins without leaving that person vulnerable 

to infections. With recent improvements in our understanding of the disease I'm very 

hopeful we'll develop a treatment now; I have a lot more confidence than even five years 
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ago."  

 

I. Pečlivě pročtěte výše uvedený text a rozhodněte, zda jsou následující tvrzení pravdivá (P) 

nebo nepravdivá (N).                                                                                                             (6 bodů) 

 

1 Working out the immune system’s five key targets was quite easy.                 P/N 
2 The trial at King's College has been successful in stopping type 1 diabetes.    P/N 

3     Blocking the response of the immune system risks causing negative side-effects.   P/N 
                     

II. Doplňte dle uvážení člen neurčitý (a/an), určitý (the) nebo nulový (0). Nevyplněné pole 

je automaticky považováno za nesprávnou odpověď.                                                (12 bodů) 

______ (1) complete picture of _____ (2) areas that _____ (3) immune system attacks to 

cause _____ (4) type 1 diabetes has finally been revealed by ______ (5) scientists. _______ 

(6) study, published in _____ (7) journal Diabetes, discovered _____ (8) fifth and final critical 

target at which _____ (9) immune system errantly takes aim. _____ (10) team at _____ (11) 

University of Lincoln say the findings could help develop new ways to prevent and treat 

_____ (12) disease. 

III. Doplňte slova opačného významu – buď antonyma (např. good – bad), nebo opozita 

odvozená zápornými předponami nebo příponami (např. possible – impossible). Zachovejte 

stejný slovní druh, jaký je použit v textu.                                                             (5 bodů) 

 

1) impressive –  _________________ 

2) unique –  _________________                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                    

3) complete –  _________________ 

4) major  –  _________________ 

5) vulnerable  –  _________________ 

    
IV. Přeformulujte větu tak, abyste při zachování významu mohli užít trpný rod . Je-li třeba, 

využijte vhodných výrazů z textu (věta je zvýrazněna tučným písmem).                (2 body) 

       

In type 1 diabetes, the immune system destroys the beta cells that make insulin. 

_________________________________________________________________________ 

 

_________________________________________________________________________ 
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V. Přeformulujte větu tak, abyste při zachování významu mohli užít činný rod. Je-li třeba,    

využijte vhodných výrazů z textu (věta je zvýrazněna tučným písmem).                  (2 body) 

 

Knowledge of some of these targets is already being used in a trial at King's College 

London.  

_________________________________________________________________________ 

 

_________________________________________________________________________ 

VI. Přeložte následující věty do češtiny; berte přitom v úvahu jejich kontext (věty jsou  

podtrženy v úvodním textu).                                                                                            (4 body) 

                                                                                                                                    

With this new discovery, we have now finished identifying what the immune system is 

targeting – we have the complete picture. 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

 

We're hoping that, by having identified the major targets in the disease, we can find ways 

to prevent it by blocking the immune response to these five proteins without leaving that 

person vulnerable to infections.  

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

 

VII. Podtrhněte v uvedených příkladech celé podměty.               (3 body) 

         

Studies looking at the unique antibodies made by patients with type 1 showed five key 

targets that the immune system attacked. 

 

VIII. Doplňte druhou větu ve dvojici tak, aby měla v textu stejný, nebo téměř stejný význam 

jako věta první. Použijte daný výraz, aniž byste změnili jeho tvar.      (12 bodů)  

 

1) I haven't seen a picture like this before.      TIME 
 

________________________________________________________________________ 
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2) The family went skiing a month ago.                             SINCE 
 

________________________________________________________________________ 

 

3) She had to finish her homework before she went out.   UNTIL 
 

  ________________________________________________________________________ 
 

4) It is not worth inviting her to the party.     POINT 
 

________________________________________________________________________ 
 

5) David asked me: “Did you go to the tennis tournament?”    BEEN 
 

________________________________________________________________________ 

  

6) I couldn’t go swimming because I forgot my swimming costume.    IF 
 

   _______________________________________________________________________ 

 

IX. Doplňte vhodná slova do textu.                                                                                     (8 bodů) 

 
Dr Emily Burns, _____________ (1) the charity Diabetes UK, said: "In ____________ (2) to 
prevent type 1 diabetes, we need to fully understand _____________ (3) the immune 
response that damages insulin-producing cells develops _____________ (4) the first place. 
"Dr Christie's impressive research is helping us_____________ (5) do just that. "We hope 
__________ (6) the findings here will be used to improve the identification of 
_____________(7)  at risk of type 1 diabetes and, in the ____________ (8) term, inform the 
crucial development of therapies. 
 
X. Doplňte správný tvar slovesa v závorce.                                                                          (8 bodů) 

 

Diabetes mellitus (DM), commonly (1) _________________ (refer) to as diabetes, is a group 

of metabolic diseases in which there are high blood sugar levels over a prolonged period. 

Symptoms of high blood sugar (2) _________________ (include) frequent urination, 

increased thirst, and increased hunger. If (3) _________________ (leave) untreated, diabetes 

can (4) _________________ (cause) many complications. Type 1 DM (5) _________________ 

(result) from the pancreas's failure to produce enough insulin. This form (6) 

_________________ (previously refer) to as "juvenile diabetes". The cause is unknown. Type 

2 DM (7) _________________ (begin) with insulin resistance, a condition in which cells fail 

(8) _________________ (respond) to insulin properly. 
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XI. Vytvořte nová slova z výrazů v závorce – použijte přípony a předpony.                (8 bodů) 

 

Are you 1) ____________ (constant) asking yourself, "What can I eat?" It's time to stop 

2)_____________ (worry)! 3) ______________ (Live) with diabetes doesn't have to mean 

feeling 4) ______________ (deprive). We'll help you learn to balance your meals and make 

the 5) ______________ (healthy) food choices. 6) _______________ (One) you get the hang 

of 7) _______________ (eat) a healthy diet, you can relax and dig in to a wide 

8)_____________ (vary) of delicious meals and snacks. 

 

Část II – Kulturně-historický přehled (30 bodů) 

 

1) What is a gothic novel? 

a) a novel which evokes horror, terror, mystery  

b) a novel depicting a wandering from one master to another  

c) a novel describing an imaginary ideal world  

d) a novel which deals with the development of a young person from adolescence to    

maturity 

 

2. What is John Milton’s masterpiece? 

a) Beowulf         b) The Canterbury Tales              c) Paradise Lost    d) Annus Mirabilis 

 

3. Who is the author of the novel On the Road?  

a) Allen Ginsberg      b) Jack Kerouac     c) John Steinbeck             d) Francis S. Fitzgerald 

 

4. Which of the following authors is NOT associated with postmodernism? 

a) John Fowles                                                          b) Ian McEwan  

c) Jeanette Winterson                                 d) Robert Louis Stevenson  

 

5. Which of these authors wrote in the 19th century? 

a) Walt Whitman        b) John Steinbeck          c) Norman Mailer  d) William Faulkner 

 

6. What is celebrated on the fourth Thursday of November in the U.S.? 
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7. What does Great Britain consist of?    

a) England, Ireland, Wales, Scotland                                  b) England, Scotland, Wales 

c) England, Scotland, Wales, Northern Ireland                d)   England, Scotland 

 

8. Which state does NOT belong to New England? 

a) Maine          b) Massachusetts              c) Virginia                     d) Vermont 

 

9. Who is the longest-reigning monarch in British history? 

a) Victoria          b) Henry IV                           c) Henry VIII                     d) Elizabeth II 

 

10. What are the two major political parties in the USA? 

 

ANGLICKÝ JAZYK A LITERATURA TEST B – klíč 

 

I. Jazyková kompetence 
 

I. Pečlivě pročtěte výše uvedený text a rozhodněte, zda jsou uvedená tvrzení pravdivá (P) 

nebo nepravdivá (N).                                                                                                                (6 bodů) 

1) N 
2) N 
3) P 

 

II. Doplňte dle uvážení člen neurčitý (a/an), určitý(the) nebo nulový (0). Nevyplněné pole je 

automaticky považováno za nesprávnou odpověď.                                                         (12 bodů) 

1. a / the 

2. the / 0 

3. the 

4. 0 

5. 0 

6. the / a 

7. the 
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8. the / a 

9. the 

10. the / a 

11. the 

12. the  

 

III. Doplňte slova opačného významu – buď antonyma (např. good – bad), nebo opozita 

odvozená zápornými předponami nebo příponami (např. possible – impossible). Zachovejte 

stejný slovní druh, jaký je použit v textu.                                                                             (5 bodů) 

 

1) impressive – unimpressive, trivial… 

2) unique – normal, common(place), usual, standard, ordinary… 

3) complete – incomplete, deficient, lacking… 

4) major – minor, insignificant, … 

5) vulnerable – invulnerable, indestructible, invincible …                                                                           

   

   IV.   Přeformulujte větu tak, abyste při zachování významu mohli užít trpný rod . Je-li 

třeba, využijte vhodných výrazů z textu (věta je zvýrazněna tučným písmem).           (2 body) 

In type 1 diabetes, the beta cells that make insulin are destroyed by the immune system. 

 

V. Přeformulujte větu tak, abyste při zachování významu mohli užít činný rod. Je-li třeba,    

využijte vhodných výrazů z textu (věta je zvýrazněna tučným písmem).              (2 body) 

Scientists are already using knowledge of some of these targets in a trial at King’s College. 

A trial at King’s College is already using knowledge of some of these targets. 

  

VI.   Přeložte následující věty do češtiny; berte přitom v úvahu jejich kontext (věty jsou 

podtrženy v úvodním textu).                                                                                                   (4 body) 

                                                                                                                                  

With this new discovery, we have now finished identifying what the immune system is 

targeting - we have the complete picture. 

 

Například: Tento nový objev nám teď pomohl identifikovat, na co imunitní systém útočí – 

máme již ucelenou představu.   
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So we're hoping that, by having identified the major targets in the disease, we can find 

ways to prevent it by blocking the immune response to these five proteins without 

leaving that person vulnerable to infections. 

 

Například: Takže doufáme, že když se nám podařilo identifikovat hlavní cíle imunitního 

systému u této nemoci, budeme schopní najít způsoby, jak ho omezit tím, že zablokujeme 

imunitní reakci na těchto pět proteinů, aniž bychom u pacienta zvýšili riziko infekce.   

 

VII. Podtrhněte v uvedených příkladech celé podměty.                (3 body) 

Studies looking at the unique antibodies made by patients with type 1 showed five key 

targets that the immune system attacked.  

 

VIII. Doplňte druhou větu ve dvojici tak, aby měla v textu stejný, nebo téměř stejný význam 

jako věta první. Použijte daný výraz, aniž byste změnili jeho tvar.                                (12 bodů)   

 

1) I haven't seen a picture like this before.      TIME  
This is the first time I have seen a picture like this. 

 

2) The family went skiing a month ago.                             SINCE 
It has been a month since the family went skiing. 

 

3) She had to finish her homework before she went out.    UNTIL 
She had to stay in ( / stay at home) until she had finished her homework. 

  
4) It is not worth inviting her to the party.     POINT 

 There is no point (in) inviting her to the party. 
 

5) David asked me: “Did you go to the tennis tournament?”   BEEN 
 David asked me if / whether I had been to the tennis tournament. 

        

6) I couldn’t go swimming because I forgot my swimming costume.   IF 
If I hadn’t forgotten my swimming costume, I could have gone swimming. (If I hadn’t 
forgotten my swimming costume, I would have been able to go swimming) 
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IX.  Doplňte vhodná slova do textu.                                                                                       (8 bodů) 

1. from / at / of 

2. order 

3. how 

4. in 

5. to 

6. that 

7. those / people / patients etc. 

8. long / longer 

 

X. Doplňte správný tvar slovesa v závorce.                                                                           (8 bodů) 

1. referred 

2. include 

3. left 

4. cause 

5. results 

6. was (previously) referred 

7. begins 

8. to respond 

 

XI. Vytvořte nová slova z výrazů v závorce – použijte přípony a předpony.                   (8 bodů) 

1. constantly 
2. worrying 
3. living 
4. deprived 
5. healthiest 
6. once 
7. eating 
8. variety 

 

Kulturně-historický přehled (30 bodů) 

 

1. a 

2. c 

3. b 

4.d 

5. a 
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6. Thanksgiving Day 

7. b 

8. c 

9. d 

10. Republican, Democratic 

 

Anglický jazyk a literatura (jednooborové) 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 85 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 76 

Průměrný výsledek písemné přijímací zkoušky: 47.99 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 14.46 

Decilové hranice výsledku zkoušky: - 

 
 dvouoborové: 

 Anglický jazyk a literatura – Český jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 16 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 90 

Průměrný výsledek písemné přijímací zkoušky: 53.63 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 16.7 

Decilové hranice výsledku zkoušky: - 

  

Anglický jazyk a literatura – Dějiny umění a památková péče 

  
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 4 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 64 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 11.96 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Francouzský jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 3 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 75 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 14.47 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Historie 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 8 
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Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 75 

Průměrný výsledek písemné přijímací zkoušky: 53.0 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 18.04 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Latinský jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 1 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 39 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 0.0 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Německý jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 3 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky:  66 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 15.31 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Polský jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 1 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 22 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 0.0 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Psychologie 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 6 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 64 

Průměrný výsledek písemné přijímací zkoušky: 51.67 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 9.73 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Ruský jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 1 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 40 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 0.0 

Decilové hranice výsledku zkoušky: - 
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Anglický jazyk a literatura – Španělský jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 6 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 81 

Průměrný výsledek písemné přijímací zkoušky: 56.83 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 19.65 

Decilové hranice výsledku zkoušky: - 

 

Anglický jazyk a literatura – Základy společenských věd 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 4 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 65 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 17.83 

Decilové hranice výsledku zkoušky: - 
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Test z Anglického jazyka a literatury - varianta C 

 

Úplné zadání Zkušebních otázek či příkladů, které jsou součástí přijímací zkoušky nebo 

její části a u otázek s výběrem odpovědí správné řešení. 

 

Část I – Test jazykové kompetence (70 bodů) 

 

The Art of Alfred, Lord Tennyson  
Alfred, Lord Tennyson, a prominent poet of the 19th century, has always been a much-

discussed personality among British literary scholars. Deprecated by some for his servile 

attitude to the Victorian establishment and revered by others for the undisputable versatility 

of his verse production, he created a poetry that was to become synonymous with 

melancholy, bittersweetness, desire for order, and formal excellence. 

 

Tennyson used a wide scale of subject matter, ranging for medieval legends to classical 

myths, and from domestic situations to observations of nature. The influence of John Keats 

and other Romantic poets published before and during his childhood is evident from the 

richness of his imagery and descriptive writing. He also handled rhythm masterfully, revising 

and polishing his manuscripts extensively. Few poets have used such a variety of styles with 

such an understanding of metre; he experimented even with the quantitative measures 

typical of Antiquity. As for the topics, while having tendencies to moralize and indulge 

himself in nostalgia, he also reflects a concern common among Victorian writers, who were 

troubled by the conflict between religious faith and expanding scientific knowledge. Like 

many writers who write a great deal over a long time, he can be pompous and banal, but his 

personality rings throughout all his works. Tennyson possessed the strongest poetic power; 

he composed many long poems, such as Maud and Idylls of the King, the latter being a 

literary treatment of the legend of King Arthur and the Knights of the Round Table. 

Psychological depth, haunting mysteries, and the idea of the inevitable doom of a social 

project create an atmosphere of regal despair, which is the essence of Tennysonian poetics.  

 

The blank verse poem Enoch Arden (1864) is, on ………………………… (1) other hand, 

………………………… (2) story taking place much closer to ………………………… (3) poet’s era. In 

………………………… (4) rough style full of unexpected breaks, Tennyson recounts 

………………………… (5) love triangle between Enoch, Philip and Annie, ………………………… (6) 

villagers from the sea shore. Although Enoch is ………………………… (7) one who is to marry 

Annie, he needs go to ………………………… (8) sea to make some money; as he is not due to 

return for many years, Annie finally accepts Philip’s wedding proposal. After some time, 

Enoch comes back to ………………………… (9) village; seeing Annie happy with Philip, he 

withdraws from the scene and finally dies near her home. In ………………………… (10) poem, 

Tennyson placed emphasis on the Victorian virtues of bravery, self-control and unselfishness, 

deepening ………………………… (11) setting with ………………………… (12) powerful natural 

symbols.  
 

I. Pečlivě pročtěte výše uvedený text a rozhodněte, zda jsou následující tvrzení pravdivá (P) 

nebo nepravdivá (N).                                                                                                             (6 bodů) 
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1 Tennyson’s poetry is criticized by some for a lack of variety.                     P/N 
2 Tennyson’s mastery of style and metre has hardly ever been bettered.     P/N 
3     In Enoch Arden, Tennyson criticized the poem’s hero for his lack of passion.   P/N 
 

                     

II. Doplňte dle uvážení člen neurčitý (a/an), určitý (the) nebo nulový (0). Nevyplněné pole 

je automaticky považováno za nesprávnou odpověď.                                                (12 bodů) 

 

The blank verse poem Enoch Arden (1864) is, on ………………………… (1) other hand, 

………………………… (2) story taking place much closer to ………………………… (3) poet’s era. In 

………………………… (4) rough style full of unexpected breaks, Tennyson recounts 

………………………… (5) love triangle between Enoch, Philip and Annie, ………………………… (6) 

villagers from the sea shore. Although Enoch is ………………………… (7) one who is to marry 

Annie, he needs go to ………………………… (8) sea to make some money; as he is not due to 

return for many years, Annie finally accepts Philip’s wedding proposal. After some time, 

Enoch comes back to ………………………… (9) village; seeing Annie happy with Philip, he 

withdraws from the scene and finally dies near her home. In ………………………… (10) poem, 

Tennyson placed emphasis on the Victorian virtues of bravery, self-control and unselfishness, 

deepening ………………………… (11) setting with ………………………… (12) powerful natural 

symbols.  

 

III. Doplňte slova opačného významu – buď antonyma (např. good – bad), nebo opozita 

odvozená zápornými předponami nebo příponami (např. possible – impossible). Zachovejte 

stejný slovní druh, jaký je použit v textu.                                                                              (5 bodů) 

 

1) synonymous  – _________________ 

2) richness –   _________________                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                    

3) depth –   _________________ 

4) bravery –   _________________ 

5) powerful –   __________________ 

    
IV. Přeformulujte větu tak, abyste při zachování významu mohli užít trpný rod. Je-li třeba, 

využijte vhodných výrazů z textu (věta je zvýrazněna tučným písmem).                (2 body) 

       

Psychological depth, haunting mysteries, and the idea of the inevitable doom of a social 

project create an atmosphere of regal despair, which is the essence of Tennysonian 

poetics. 

_________________________________________________________________________ 

 

 

_________________________________________________________________________ 

 

 

V. Přeformulujte větu tak, abyste při zachování významu mohli užít činný rod.         (2 body) 
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Victorian writers were troubled by the conflict between religious faith and expanding 

scientific knowledge. 

________________________________________________________________________ 

 

 

VI. Přeložte následující věty do češtiny; berte přitom v úvahu jejich kontext (věty jsou  

podtrženy v úvodním textu).                                                                                            (4 body) 

                                                                                                                                    

Tennyson used a wide scale of subject matter, ranging for medieval legends to classical 

myths, and from domestic situations to observations of nature. 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

 

Like many writers who write a great deal over a long time, he can be pompous and banal, 

but his personality rings throughout all his works. 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

 

VII. Podtrhněte v uvedeném příkladu celé podměty.               (3 body) 

 

        The influence of John Keats and other Romantic poets published before and during his 

childhood is evident from the richness of his imagery and descriptive writing. (...) Few 

poets have used such a variety of styles with such an understanding of metre; he 

experimented even with the quantitative measures typical of Antiquity. 

 

VIII. Doplňte druhou větu ve dvojici tak, aby měla v textu stejný, nebo téměř stejný význam 

jako věta první. Použijte daný výraz, aniž byste změnili jeho tvar.      (12 bodů)  

 

1) Could you speak English when you were three years old?                                  ABLE 
 

________________________________________________________________________ 

 

 

2) Because you haven’t taken the map, we are lost now.                                 IF 
 

________________________________________________________________________ 

 

3) We need to postpone the meeting.                   OFF 
 
   ________________________________________________________________________ 
 
 

4) My brother doesn’t like computer games very much.                    KEEN 
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_________________________________________________________________________ 
 
 

5) The bracelet was stolen when he was the only person in the shop.      MUST 
 

________________________________________________________________________ 

 

6) Although it was snowing, the train got to the station on time.         SPITE 
 

_________________________________________________________________________ 

 

 

IX. Doplňte vhodná slova do textu.                                                                                      (8 bodů) 

 
Enrico Rastelli was probably ………………………… (1) greatest juggler the world ………………………… 
(2) ever known. Juggling involves throwing ………………………… (3) number of objects up into 
the air and catching them ………………………… (4) dropping a single one. Rastelli was able to 
jungle ………………………… (5) many as eight balls at the same time. However, what made him a 
genius ………………………… (6) his perfect style, rather ………………………… (7) the quantity of 
objects he ………………………… (8) juggle.    
 

X. Doplňte správný tvar slovesa v závorce.                                                                          (8 bodů) 

 

It was nearing midnight and the Prime Minister (1) ……………………… (sit) alone in his office, 

reading a long memo that (2) ……………………… (slip) through his brain without leaving the 

slightest trace of meaning behind. He was waiting for a call from the President of a far distant 

country, and between wondering when the wretched man (3) ……………………… (telephone), 

and trying to suppress unpleasant memories of what (4) ……………………… (be) a very long, 

tiring, and difficult week, there was not much space in his head for anything else. The more 

he (5) ……………………… (attempt)  to focus on the print on the page before him, the more 

clearly the Prime Minister could see the gloating face of one of his political opponents. This 

particular opponent (6) ……………………… (appear) on the news that very day, not only to 

enumerate all the terrible things that (7) ……………………… (happen) in the last week (as 

though anyone needed reminding) but also to explain why each and every one of them (8) 

……………………… (be) the government’s fault. 

 

XI. Vytvořte nová slova z výrazů v závorce – použijte přípony a předpony.                (8 bodů) 

 

During Xi Jinping’s visit in the UK, the (1) ………………………… (govern), seeing a trade and 

investment (2) ………………………… (relate) with China as an engine of economic (3) 

………………………… (grow), has spared no effort to make the president feel special. Over the 

four days of his stay, there will be three (4) ………………………… (substance) meetings with David 

Cameron. The critics have argued Britain has sacrificed the positions of principle on human 

rights and (5) ………………………… (nation) law in the (6) ………………………… (pursue) of economic 

benefits. In their view, the Tuesday (7) ………………………… (announce) of job (8) 

………………………… (lose) in Scunthorpe, which is to be blamed on the cheap Asian steel on the 
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world market, is but a proof of the danger inherent in deepening economic ties with China.  

 

Část II – Kulturně-historický přehled (30 bodů) 

 
1. A sonnet consists of 

a) 8 lines b) 12 lines c) 14 lines d) 16 lines 

 

2. Which of the following writers is NOT associated with realism? 

a) George Eliot               b) Charles Dickens            c) William Makepeace Thackeray 

d) George Gordon Lord Byron 

 

3. Which book was written by Francis Scott Fitzgerald? 

a) The Great Gatsby      b) A Farewell to Arms    c) The Sound and the Fury     d) Invisible Man 

 

4. Which of the following authors was NOT an Irishman? 

a) George Bernard Shaw b) George Orwell       c) James Joyce   d) William Butler Yeats 

 

5. Which of these writers introduced free verse? 

a) Allen Ginsberg    b) Walt Whitman    c) Edgar Allan Poe        d) Carl Sandburg 

 

6. Which monarch established the Church of England? 

 

7. What is the capital of Scotland? 

a) Cardiff  b) Glasgow       c) Dublin                    d) Edinburgh 

 

8. Where in the United States is New England located? 

a) northwest              b) southwest                    c) northeast       d) southeast 

   

9) Which party is the government party in today’s Britain? 

a) Labour  b) Democratic       c) Conservative        d) Republican 

 

10) What is the name of the American President who was assassinated in 1963?  

 

ANGLICKÝ JAZYK A LITERATURA TEST C - klíč 

 

Jazyková kompetence 

 

I. Pečlivě pročtěte výše uvedený text a rozhodněte, zda jsou uvedená tvrzení pravdivá (P) 

nebo nepravdivá (N).                                                                                                                (6 bodů) 

1) N 
2) P 
3) N 
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II. Doplňte dle uvážení člen neurčitý (a/an), určitý(the) nebo nulový (0). Nevyplněné pole je 

automaticky považováno za nesprávnou odpověď.                                                         (12 bodů) 

 

1. the 

2. a 

3. the 

4. a 

5. a / the 

6. 0 

7. the 

8. 0 

9. the 

10. the 

11. the 

12. 0  

 

III. Doplňte slova opačného významu – buď antonyma (např. good – bad), nebo opozita 

odvozená zápornými předponami nebo příponami (např. possible – impossible). Zachovejte 

stejný slovní druh, jaký je použit v textu.                                                                             (5 bodů) 

 

1) synonymous – antonymous, opposite, contradictory 

2) richness – poverty, emptiness 

3) depth – superficiality, shallowness 

4) bravery – cowardice                                                                         

5) powerful – powerless, weak  

 

     IV.   Přeformulujte větu tak, abyste při zachování významu mohli užít trpný rod. Je-li 

třeba, využijte vhodných výrazů z textu (věta je zvýrazněna tučným písmem).           (2 body) 

An atmosphere of regal despair, which is the essence of Tennysonian poetics, is created by 

psychological depth, haunting mysteries, and the idea of the inevitable doom of a social 

project.  

 

V. Přeformulujte větu tak, abyste při zachování významu mohli užít činný rod.         (2 body) 

 The conflict between religious faith and expanding scientific knowledge troubled 

Victorian writers.  

 

VI.   Přeložte následující věty do češtiny; berte přitom v úvahu jejich kontext (věty jsou 

podtrženy v úvodním textu).                                                                                                   (4 body) 
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Tennyson used a wide scale of subject matter, ranging for medieval legends to classical 

myths, and from domestic situations to observations of nature. 

 

Například: Tennyson čerpal z celé řady námětových oblastí, které sahaly od středověkých 

legend až po klasické mýty, od domácích motivů až po pozorování přírody.   

 

Like many writers who write a great deal over a long time, he can be pompous and banal, 

but his personality rings throughout all his works. 

 

Například: Podobně jako mnozí spisovatelé, kteří píší mnoho po dlouhou dobu, umí být 

pompézní a jalový, ale jeho osobnost je přítomna ve všech jeho dílech.  

 

 

VII. Podtrhněte v uvedených příkladech celé podměty.                           (3 body) 

The influence of John Keats and other Romantic poets published before and during his 

childhood is evident from the richness of his imagery and descriptive writing. (…) Few 

poets have used such a variety of styles with such an understanding of metre; he 

experimented even with the quantitative measures typical of Antiquity. 

 

VIII. Doplňte druhou větu ve dvojici tak, aby měla v textu stejný, nebo téměř stejný význam 

jako věta první. Použijte daný výraz, aniž byste změnili jeho tvar.                                (12 bodů)   

 
1) Could you speak English when you were three years old?                                    ABLE 

Were you able to speak English when you were three years old? 

 

2) Because you haven’t taken the map, we are lost now.                           IF 
If you had taken the map, we wouldn’t be lost now.  

 

3) We need to postpone the meeting.                   OFF 
 We need to put the meeting off. / We need to put off the meeting. (also “call off”) 

 

 
4) My brother doesn’t like computer games very much.             KEEN 

 My brother isn’t (very) keen on computer games.    

 
 

5) The bracelet was stolen when he was the only person in the shop.          MUST 
He must have stolen the bracelet. / The bracelet must have been stolen by him.  

/ It must have been him who stole the bracelet 

 

6) Although it was snowing, the train got to the station on time.             SPITE 
In spite of the snow, the train got to the station on time.  

 

IX.  Doplňte vhodná slova do textu.                                                                                       (8 bodů) 
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1 the 

2 has 

3 a 

4           without 

5 as 

6 was 

7 than 

8         could 

 

X. Doplňte správný tvar slovesa v závorce.                                                                           (8 bodů) 

 

1) was sitting / sat 

2) was slipping / slipped 

3) would telephone / was going to telephone / would be telephoning 

4) had been 

5) attempted / was attempting 

6) had appeared 

7) had happened / had been happening 

8) was / had been 

 

XI. Vytvořte nová slova z výrazů v závorce – použijte přípony a předpony.                   (8 bodů) 

 

1) government 

2) relationship 

3) growth 

4) substantial 

5) international 

6) pursuit 

7) announcement 

8) losses 

 

Kulturně-historický přehled 

1. C 

2. D 
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3. A 

4. B 

5. B 

6. Henry VIII 

7. D 

8. C 

9. C 

10. John Fitzgerald Kennedy 

 

Anglický jazyk a literatura (jednooborové) 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 6 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 87 

Průměrný výsledek písemné přijímací zkoušky: 63.67 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 14.99 

Decilové hranice výsledku zkoušky: - 

 
 dvouoborové: 

 Anglický jazyk a literatura – Český jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 4 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 70 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 15.33 

Decilové hranice výsledku zkoušky: - 

  

Anglický jazyk a literatura – Německý jazyk a literatura 

 
Základní statistické charakteristiky písemné přijímací zkoušky nebo její části: 

Počet uchazečů, kteří se zúčastnili písemné přijímací zkoušky: 1 

Nejlepší možný výsledek písemné přijímací zkoušky: 100 

Nejlepší skutečně dosažený výsledek písemné přijímací zkoušky: 70 

Průměrný výsledek písemné přijímací zkoušky: - 

Směrodatná odchylka výsledků písemné přijímací zkoušky: 0.0 

Decilové hranice výsledku zkoušky: - 

 

 

Ostrava 22. června 2016 

 

Zpracovali: Mgr. Andrea Holešová, Ph.D., Bc. Petra Valošková 
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